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Special credit will be given for precise and correct answers. Marks will be
deducted for spelling mistakes, untidiness and illegible handwriting. The
figures in the margin indicate full marks.
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Answer any two questions. 18 x2 =36
1. R PRISTIER 0 30 296 3! @Al ared FRei Ji e 2

What were the reasons for the conflict between Nawab Siraj-Ud-Daulah
and the English East India Company ?

2. SRMERN W@ afezihe od Spme 39 |
Trace the historical debate on de-industrialisation.
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What were the characteristic features of Bengal Renaissance ?
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Discuss the social background of Indian nationalism.
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Answer any three questions. 12 x3 =36
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Examine the Anglo-Mysore relations between 1760 and 1799.

| TE/PG(TH)20037 | [ Turn over




QP Code: 23/PT/5/11 2

6.

10.

11.

12.

13.

14.

15.

16.

17.

18.

Shee-97 e Reuieg “Befi [Rumd T |
Analyse the background of the Santal rebellion of 1855.
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What was the impact of Permanent Settlement on the society and economy
of Bengal ?
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Evaluate the contribution of Young Bengal in the 19th Century Bengal.
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Write a note on economic critique of the British rule.
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Do you agree with the view that the second half of the 19th Century India
was the 'Age of Associations' ?
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Answer any four questions. 7x4 =28
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What role did Ranjit Singh play in the rise of Sikh power ?
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What were the chief conditions of the 'policy of Subsidiary Alliance' ?
FTOCTR IRT! TS 7RHFS DIt 614 |

Write a short note on Ryotwari Settlement.
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Write in short on Munda rebellion with special reference to Birsa Munda.
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What were the basic features of Birtish liberalism ?
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Write a note on schism in Brahmo Samaj.

Assess the contribution of Bankimchandra in the emergence of Indian
nationalism.
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Why did the British government enact the Vernacular Press Act of 1878 ?
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